BARMT T RESR
E53EHREEAS F=2 [SvIRETILR] e

EHH:2022561186H(R)

<FR)-TE> <126 b—F A PEREE >
A K& 1. XB-XB| 2. B-IF |3 BiE 5|4 HE-BKA| B K [1:{03 g KB EH .
X% IEZ (BIGBOX) P —
1 6—1 6—1 6—0 3—-0 1
A% BF (GTT) . 2 Ex =%
® 2 G B2 gk mx PR
2 1—6 6—2 6—1 2—1 2 =
NEFEEF (GTT) L, B o= 6 | NEFEETF
BE BE (—) AR g gz =]
3 1-6 2—6 6—2 1—-2 3
BEEET (—) a1 BN BE 2 EEmB
Hm @ (GTT) B8 R B E&
4 0—6 1-6 2—6 0—3
#A BT (957) 4 X¥ BRF
Ad—F 1-2 1-3 1-4 =&
Ba—k 3-4 2-4 2-3 <EREH>
GO =4
B RE 5 AM-AE|6. BI- KB 7. ZIEK | BE-hit]o m-mA| B M [ BE B 6 h)l| EE
X@ {543 (GTT) = @ 3 BE E8
5 — — — — — —_—
KB HE (GTD 8—6 2-6 6-0 1-2 8 X =
6 ‘:i’; i: ((;_ﬂ;’) 6—3 6—3 - 6—2 | 3-0 1
RkiE = 7 >
> E= G <avvr—iar>
7 Lo e-2 3-6 - 6—2 2-1 2
BA BE (— Aol BB 8 ,
== mE BEEET - | ¢
’ H-FE B B B B B wo Hi ER
—hn -
B-4fL . R
- " HOERF =
o |ER EH @ o—g o—g _ 0—3 4 4 | x@E EBF
HIERTF (GTD) pa FE B 6 | XKE K
ca—k 5-7 5-9 5-6 #}AR #iT
Da—k 6-9 6-7 7-9 B-3f& KB BT |
<FB> GTT:USuiH—Sa1-F=R-F—L 557 BAMT=RH5T KEH HE

HEIETRAEFTRE T=X [ZvVRFTILR] ZEE

=B
BE-F E&F RT

=@
X E%-XF ¥ R7

g=
)il BE-ER E8 R7

6



